Running Board Instructions

1061

(195-99) Tahoe / ( 96-99 )Yukon
(192-99 ) Suburban
(88-98) 1500 CK Pickup Reg/Ext Cab
(/88-00) 2500/3500 CK / Pickup Reg/Ext/Crew Cab

( Minor Drilling Required )

2" bolt here

INSTALLATION PACKAGE

Running Board 2
Installation Instructions 1
Bracket 10
Straps 10
Support Plate 10
Bolt Pack 2

Necessary Tools

Ratchet wrench with 2" socket
Combination wrench

Variable speed drill w/ 3/8” hex head drive
Safety glasses

Bolt Pack Brackets
5/16” x 2” Hex Bolt 10
5/16” x %" Hex Bolt 10
5/16” Flat washer 20
5/16” Serrated Flange Nut 20
3/4* Self Tapping Tec Screws 10

Bolt Pack Running Boards
5/16” x ¥ Hex Bolt 20
5/16” x %" Serrated Flange Nut 20

STEP ONE: Determine proper bracket placement Fig A

1) Equally space 1st (3) brackets on front floor pan weld, and the
4th & 5th on the back two welds.

2) Drop 2" bolt through bracket and into hanger bracket,hand tight

3) Do this with all brackets putting them in proper areas
STEP TWO: Attaching twist trap to bracket and rocker panel Fig B
1) Bolt the twist straps to the side of bracket using 3/4 bolt,

And flange nut.
2) Slide bolts down underside of board to line up with brackets.

You will only need one bolt to hold board to bracket. Use two if

slot and bracket line up.
3) Tilt board back and slide up under body letting the rear bolts
fall into slots first then the front bolts.
4) Hand tighten the board to the brackets using 5/16” lock nuts
5) Slide board in or out to desired location
6) Tighten down lock nuts under running board

STEP THREE: Tec screw strap into rocker panel

1) Push board tight against vehicle and tec screw strap into
rocker panel using top hole of strap.

2) Go back to the hanger brackets [fig A] and tighten.

3) Check that all brackets are tight before stepping on boards.




